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Question Number : 1 Question Id : 630680218413 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In October 2022, who became the prime minister of the United Kingdom by replacing Liz Truss?

Options :

1. ® Kemi Badenoch

5 % Penny Mordaunt

3. % Boris Johnson

4. + Rishi Sunak

Question Number : 1 Question Id : 630680218413 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 2 Question Id : 630680218414 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the theme of the World Environment Day 20237
Options :

1 % Many S pecies, One Planet, One Future

2.« Solutions to Plastic Pollution

3 » Connecting People to Nature

4 w Ecosystem Restoration

Question Number : 2 Question Id : 630680218414 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 630680218415 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct regarding the United Nations Statistical Commission?
L. In April 2023, India has been elected to the United Nations Statistical Commission.

II. India has been elected for a two-year term beginning January 1, 2024.
Options :

1 Onlyl

> % OnlyII

3. % BothIandII

4, % Neither InorII



Question Number : 3 Question Id : 630680218415 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
CTDE TAT) TENES E1NSH H020608) & 808 LS JBIG M6

L DS 20238, 2rdSTI0 85T ferod EMadd JR)308
Il 2rOSTH0 25950 1, 2024 0G TOBY T ) 300,

Options :
| o | SrSE
5 % I S

3 % | 08a% Il Bodar

4% 1 S Il OB 5%

Question Number : 4 Question Id : 630680218416 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct regarding the Asian Infrastructure Investment Bank (AIIB)?
[ In January 2022, former RBI governor Urjit Patel was appointed as vice president of the ATIB.
II. In November 2022, Afghanistan was removed as a member of the ATIB.

II1. In March 2023, Japan became the biggest shareholder in the AIIB.

Options :



w OnlyI
. OnlyIandII
3 % Only ITand III

. Only III

Question Number : 4 Question Id : 630680218416 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 630680218417 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs is correct regarding West Asian Quad?
Options :

1« 12U2 —India, Israel, the UAE. and the USA

5 % 1202 —India, Israel, the United Kingdom, and the USA

3 % 1202 —India, Indonesia, the United Kingdom, and the USA

4 % 12U2 —India, Indonesia, the United Kingdom. and the UAE

Question Number : 5 Question Id : 630680218417 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options:

1 o 1202 - 2rGehD30, PEToDO, UAE OGS USA

, % 1202 - erdeT%0, YErodS, ANZJWE SohctD HBTN USA

12U2 - 2735340, ROSRAAT, CNRTE Softa HBA USA

4 % 1202 - 2788540, R0ETAAT, AT E 8ofit HBA) UAE



Question Number : 6 Question Id : 630680218418 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is the correct descending order of the share of given countries in India’s Inward remittances for
2020217
Options :

1 % United Arab Emirates, Singapore, United Kingdom
> w United Kingdom, Singapore, United Arab Emirates
3« United Arab Emirates, United Kingdom. Singapore

4 % Singapore, United Kingdom, United Arab Emirates

Question Number : 6 Question Id : 630680218418 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 630680218419 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

With respect to Indian defence, what is BrahMos?

Options :

1 = Indigenous Tank

2 « Missile

3. % Nuclear submarine

4w Bulletproof jacket

Question Number : 7 Question Id : 630680218419 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options:
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Question Number : 8 Question Id : 630680218420 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the theme of the ‘National Science Day 2023°?
Options :

1 % Radiation and Radioisotopes in Healthcare

5 « Global Science for Global Well being

3 % Sclence for the People and the People for Science

4 % Sclence & Technology for Specially abled Persons

Question Number : 8 Question Id : 630680218420 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 630680218421 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct regarding India Science, Technology and Engineering facilities Map (I-
STEM)?

[. It has organized the Tech Management Conclave in 2023 at the Indian Institute of Science (IISc).

IL. The theme of the I-STEM initiative is linking researchers and resources.
Options :

1 = Onlyl

5 % OnlyII

3.+ BothIandII

4. % Neither I nor II



Question Number : 9 Question Id : 630680218421 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 630680218422 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct regarding ADITYA-L1 mission?
L. Aditya L1 shall be the second space based Indian mission to study the Sun.
II. The spacecraft shall be placed in a halo orbit around the Lagrange point | of the Sun-Earth system.

II1. One of the objectives of this mission is to study physics of solar corona and its heating mechanism.

Options :



1 % OnlylI

> % OnlyII

3  Only IIand III

4 % OnlyIand III

Question Number : 10 Question Id : 630680218422 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 630680218423 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
As per the fifth World Air Quality Report prepared by IQALr based on the annual average level of pollutant PM2.5 in
air, Delhi is the polluted city in the World.

Options :

1. % third most
2« fourth most
3. % second most

4. % most

Question Number : 11 Question Id : 630680218423 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 630680218424 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct regarding World Day of Social Justice?
[ Every year, February 20 marks the World Day of Social Justice across the globe.

II. The main goal of commemorating this day is to raise a voice against social injustice and to bring various

communities together.

III. The theme for 2023 was “Overcoming Barriers and Unleashing Opportunities for Social Justice".
Options :

1 % OnlyIandII

> % Only Il and III

3 % OnlyIandIII

4w L1TandIII

Question Number : 12 Question Id : 630680218424 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 630680218425 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct regarding All India Survey on Higher Education (AISHE) 2020-2021

released in January 2023?
I The total enrollment in higher education has increased to nearly 4.14 crore in 2020-21.

IL. During 2020-21, the mumber of universities has increased by 70, and the number of colleges has increased by 1,433,
Options:

1 % OnlyI



> % OnlylIl

3 « BothIandII

4. % Neither I nor I

Question Number : 13 Question Id : 630680218425 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 630680218426 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

In January 2023, Jal Jeevan Mission (JIM) has achieved crores tap connections.

Options :

1.v 11

Question Number : 14 Question Id : 630680218426 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1.+ 11

Question Number : 15 Question Id : 630680218427 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ORS solutions are used to treat dehydration caused by diarrhoea, What does ORS stands for in ORS solutions?
Options :

1 % Organic Rehydration Substances
> % Oral Rehydration Substances
3. Oral Rehydration Salts

4 % Organic Rehydration Salts

Question Number : 15 Question Id : 630680218427 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

| % TS BT BAS H2r), B0 (Organic Rehydration Substances)

5 % 5.80 82T TAS D2, BV (Oral Rehydration Substances)

3 ¢ 20O B3 BAS Q) (Oral Rehydration Salts)

4 & BTOE BT TAS arQ)) (Organic Rehydration Salts)



Question Number : 16 Question Id : 630680218428 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which type of vehicles is capable of running on 100 per cent petrol or 100 per cent bio-ethanol or a combination of
both?

Options :

1.« Flex fuel vehicles

2 % Fuel Cell Vehicles

3 % Propane Vehicles

4. % Natural Gas Vehicles

Question Number : 16 Question Id : 630680218428 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 630680218429 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The 2021 Nobel Prize in Physiology or Medicine is given for the

Options :

1« discovery of receptors for temperature and touch
> w discovery of genome editing method
3 % discovery of cause of covid-19 mutation

4 % discovery of new variety of GM cotton crop

Question Number : 17 Question Id : 630680218429 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 630680218430 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct regarding metals?
I. Metals can form positive ions by losing electrons to non-metals.

IT. Metals combine with oxygen to form basic oxides.
Options :
1 % Onlyl

> % OnlyII

3.+« BothIandII

4. % Neither I nor I

Question Number : 18 Question Id : 630680218430 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 630680218431 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct regarding transportation in plants?
L. Plant transport system will move energy from leaves and raw material from roots.
II. Xylem moves product of photosynthesis.

II1. Phloem moves water and minerals.

Options :
1 % OnlylII
& Only I

2

3 % OnlyIandIII



4. ¥ No statement is correct

Question Number : 19 Question Id : 630680218431 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 630680218432 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which of the following pair of element : atomic mass is correct?
I. Sodium : 23

II. Sulphur : 32
Options :

1 % OnlylI

> % OnlyII

3.« BothIandII

4. % Neither I nor I

Question Number : 20 Question Id : 630680218432 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 630680218433 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Match the following parts of body with the type of tissues they have?

Part Tissue type

I | Skin 1 | Cuboidal epithelium

(R

II | Ducts of salivary glands Columnar epithelium

IIT | Inner lining of intestine | 3 | Squamous epithelium

Options :

| % 2,11, 1113

> % I-3,1I-2,III-1

3 -3, II-1.III-2

4 % I-2,1I-3, III-1

Question Number : 21 Question Id : 630680218433 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1% -2, 11, 113

o w I-3, 1I-2, 1lI-1

3.« -3, 1I-1, 1l-2

4 % 2, 11-3, 1111

Question Number : 22 Question Id : 630680218434 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Members of which phyvlum of animal kingdom are commonly known as sponges?
Options :

1. % Mollusca

> % Platyhelminthes

3.« Porifera



4. % Annelida

Question Number : 22 Question Id : 630680218434 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :
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4 % OO

Question Number : 23 Question Id : 630680218435 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Phytoplankton are generally part of which trophic level in an ecosystem?

Options :

1.« First

2 % Second



3. % Third

4. % Fourth

Question Number : 23 Question Id : 630680218435 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 630680218436 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In India, with respect to disaster reduction, the prime minister in 2016 gave how many points for disaster tisk reduction?

Options :

1 = Seven points agenda



> % Eight points agenda
3. % Nine points agenda

4« Ten points agenda

Question Number : 24 Question Id : 630680218436 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 630680218437 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The Indian satellites that is placed in geostationary orbit (GEO) and geosynchronous orbit (GSO) and can be used in the

early warning of disasters is called

Options :
1.« NavlC
2. % SanlK

3. % GaruDA

4. % RakshAK

Question Number : 25 Question Id : 630680218437 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options:
1.+ NavlC
2. % 3anlK

3. # GaruDA

4 % RakshAK

Question Number : 26 Question Id : 630680218438 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In India. Port Blair is located in which Seismic zone?

Options :
1. % Zonel
2. % Zonell

3. % ZonelV

4.« Zone'V

Question Number : 26 Question Id : 630680218438 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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3 % S IV

4. ﬁﬁtﬁ v



Question Number : 27 Question Id : 630680218439 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Montreal Protocol was based on

Options:

1. % artificial afforestation in cities

> w Pprotection of critical endangered species
3. % huclear proliferation

4. Ozone layer depletion

Question Number : 27 Question Id : 630680218439 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Jro(30hS | TS 2 eaTdH%00.

Options :
| oS £y 8 edHe Dongo

, % SRS ©0SB0NNAD) erehe HodE e

3 % @D INGD



4 250 &8 §each

Question Number : 28 Question Id : 630680218440 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With respect to fertilizers used in India, what is the ideal Nitrogen:Phosphorus:Potassium (NPK) ratio for soils?

Options :

1. % 15:7:3

3. #® 28:15:7

4. % 28:11:3

Question Number : 28 Question Id : 630680218440 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

2rESTI0S GHRTIOD JEIOH H020H0Y, TOOF BHRS SSBR: 2m580:
SFEracho (NPK) 8 Doeh?

Options:

1. % 15:7:3

2.« 42:1



3. % 28:15:7

4. % 28:11:3

Question Number : 29 Question Id : 630680218441 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With respect to environmental issues, which practice is refers to misleading and exaggerated claims to deceive people
about the environmental worthiness of a product or action?

Options :

1« Greenwashing

> w Fake greening

3 % Window greening

4. % Ecowasher

Question Number : 29 Question Id : 630680218441 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

DoessBE e 2020800, 2.8 G Ber B38: g} arreide B Moo
200 I0 TAHEAE B HG0T HOAD @MTS dded rdod @aro
0?7

Options :

1.



, B8 57200 (Greenwashing)

5 % D5 (ADOR (Fake greening)

3, % Do& AN (Window greening)

4 % D505 (Ecowasher)

Question Number : 30 Question Id : 630680218442 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In September 2022, the Centre government of India has set a new target of a 40% reduction in particulate matter

concentration in cities covered under the National Clean Air Programme (NCAP) by
Options :
1. % 2030
2. % 2028

3« 2026

4 % 2024

Question Number : 30 Question Id : 630680218442 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

a0l 2028, 2768 0B 1HNS0 TS § Jowd o (NCAP) HBBSE ¥
S0 d0% Tensy® by T8 SlomoT €8 o3 030008,

Options :

1 % 2030
> % 2028
3 v 2026

4 % 2024

Question Number : 31 Question Id : 630680218443 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

GRIHA (Green Rating for Integrated Habitat Assessment) which evaluates environmental performance of a building

was developed by :

Options :

1. ¢ The Energy and Resource Institute (TERI)
2 % National Green Tribunal (NGT)

3 % Bombay Natural History Society (BNHS)

4 % Central Pollution Control Board (CPCEB)



Question Number : 31 Question Id : 630680218443 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

25990 T8 No5s6e HASG ST T GRIHA (IS 05 95 RoBiRG i
&RRR0E) AR OANNARR WA A

Options :

| v 38 HBAM S3Be DoP (TERI)

, x oS BS (BensdS (NGT)

L x T0B JES RS Fe3 (BNHS)

4 % SO& smends Aohoden ok (CPCB)

Question Number : 32 Question Id : 630680218444 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct regarding the corals?
L. The Great Barrier Reef is the largest living structure on Earth and is situated in Indonesia.

I1. Blast fishing does not cause physical damage to corals.

Options :

1 = lonly

> % only



3. % BothIandII

4. + Neither I nor II

Question Number : 32 Question Id : 630680218444 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
ey H00007) & 08 HESS $BIS I&?

L (7S 28055 8D Srp @8Dd 258 o0, 88 EIAATS God.
I HEoR 27 daoh 276 ek O,

Options :
IR (B
5w I S

3 % | 08a% Il Bodar

4v | B 1l D8 =%

Question Number : 33 Question Id : 630680218445 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Which of the following statements is correct regarding the air pollutants?
L. PM2.5 s more likely to travel into and deposit on the surface of the deeper parts of the lung.
IT. PM10 is more likely to deposit on the surfaces of the larger airways of the upper region of the lung.

III. Both PM2.5 and PM10 are bigger than human hair.

Options :

1 = Onlyl
> % OnlylIl
3. ¢ Only I'and II

4 % LIlandIII

Question Number : 33 Question Id : 630680218445 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
T Fen)s SEFe% 3020800 & 808 FES 9B [HELS A6?

L PM25 G080 S8 27T Gisde0 D8 (NaFEod) 2 ot @ssHo Gob.

I &DBBRO DY [F0S05R DY TEVXFTO GOSrOD PMI0 2 BT S50
G0Q.

Il PM25 8050 PMI0 Bockr e ojente 0B

Options :

x| ST

5 x I SSD



3 o | HBAL I ST

4 % 1, 11 08a% i

Question Number : 34 Question Id : 630680218446 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

What is the correct order (first to last) of the following Indian regions with respect to the expected arrival of advancing

monsoon?

Options :

1+ Thiruvananthapuram, Mumbai, Ahmedabad
> % Ahmedabad, Mumbai, Thiruvananthapuram
3 % Thiruvananthapuram, Ahmedabad, Mumbai

4 % Mumbai, Ahmedabad, Thiruvananthapuram

Question Number : 34 Question Id : 630680218446 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AMSTO) 2rSSTH0S (HR0T @osTH H020600) & (808 i Fozod
535 1K00 (B08 006 D36 388 D0

Options :



1. SES00SYB0, dW0Z3, 9TITTeTE

5 Oy, w03, S&NDS0SHB0

3 & DOII0SYL0, @ Trerd, SO

4 % 30023, @, e300 S0

Question Number : 35 Question Id : 630680218447 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following national parks in India based on their location from north to south.
L. Bandipur National Park
II. Simlipal National Park

III. Manas National Park
Options :

| % OLLII
5 % LILII
3 v OLILI

4 % LILII



Question Number : 35 Question Id : 630680218447 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

& 308 Zath GISSTON wdSTIoSR G880 Hod B8eNE &8 Yo emdor
@00)08.

. 200550 80 BIINS0
I VTS 27 GIHRIN0

I, 7R P8 BIrRN0

Options :
q s L1
2w 11,1

3 LI

4 % 1L

Question Number : 36 Question Id : 630680218448 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Match the following seasons in India and their period.

Season Period

I | Retreating Monsoons | 1 | Mid-November to February

II | Cold Weather Season October-November

[

IIT | Hot Weather Season 3 | March to May

Options :

| w I3, 112,111

> % I-1,II-2,III-3

3 « -2, 1I-1,III-3

4 % 12,113 1111

Question Number : 36 Question Id : 630680218448 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
85550 SR (808 DHEdod BN e Serd) 2SDoN0d.

Hes 500

| | B850 BoedaNdaren | 1| dd0dB s oG D2SE SEE

I | IS0 2| ©87235-5:5026

D BS 3| S8 0B D SHEK




Options :

1w 13, 112, 111

> w -1, 11-2, 1l-3

3w 2, 111, 113

4 % -2, 11-3, llI-1

Question Number : 37 Question Id : 630680218449 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs is correct regarding the trees/plants and their scientific names?
L. Mahua : Bassia latifolia

II. Mango : Mangifera indica
Options:

1 % Onlyl

> % OnlyIl

3.« BothIandII

4. % Neither I nor IT

Question Number : 37 Question Id : 630680218449 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
ZEFENGO) HB0 T FRH THred H020800) & [§08 2000S B NBIE?

VOISO O LAty oW
I 7ol ArofdT QoS

Options :
IR (B
5 % I S

3 ¢ | Q08T Il Bodayr

4% 1 B 1l D8 =5

Question Number : 38 Question Id : 630680218450 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs of Committee and their respective fields is correct?
I. Alagh Committee: Educational reforms

II. Tendulkar Committee: Poverty estimation
Options:
1 % Onlyl

5  OnlyII



3. % BothIandII

4. % Neither I nor IT

Question Number : 38 Question Id : 630680218450 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
& 808 zde e BN 83 Ho0HH DTS IO HBIA?

| @o e dors Hod)deen

I Bodred ed: Dd8%0 ot

Options:
x| ST
5 o I S

3 % | 083 Il Body

4% 1 B I 08 5

Question Number : 39 Question Id : 630680218451 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the following years and related events with respect to census of India.

Year Events

I | 1872 1 | First census of India was conducted

IT | 1948

[

Census Act was enacted

IIT| 1951 | 3 | First census conducted of Independent India

Options :

1.« -1, 1I-2, 1II-3

> % I-1,II-3.III-2

3 % I-3,1I-2,III-1

4 % 3,11, T2

Question Number : 39 Question Id : 630680218451 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



2T 2T ) 2000800 & (8od Hoss Tey HBck Noa0dd &odod
2SD0N0G.

Nod$ 60| | &BodHen
| 1872 | ar8esTs0S FndE BT Kk 60od

Il 1948 5| BT () Q0 drerodoindod

i | 1651 3| V50| 855085 0AETE zrrer fod Adarotadod

Options :

1.« 1,112, 11-3

2 % -1, 11-3, 1l-2

5 % 13, 12, 1111

4 % -3, 11-1, 11I-2

Question Number : 40 Question Id : 630680218452 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following Indian states with respect to their poverty ratio from high to low as per census India 2011.
[ Kerala
II. Punjab

III. Gujarat

Options :

| ¢ ILILI



5 % LILII
3 % ILLII

4 % OLLII

Question Number : 40 Question Id : 630680218452 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

OETH e Béen 2011 (50, & (808 2réBah TN T DAY A (Hso
28030 008 S5 & JomEn Tahod.

| 3¢
Il 20272

[ VvioR
Options :
1. L
2w L1, 1

3 s I L

4 % L1 00

Question Number : 41 Question Id : 630680218453 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the chronological order (first to last) of launching of following social scheme of government of India?
L. Prime Minister Rozgar Yozana
II. Rural Employment Generation Programme

III. Swarnajayanti Gram Swarozgar Yojana

Options :

| v LILII

5 % OLILI

3 % ILLII

4 % LILII

Question Number : 41 Question Id : 630680218453 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2766 (HEDB105Q & 808 Frred ddse oo BnE) FOED o FndE ok
038 $5680) ané3?

L 17 o B5TD Bz
I Tahe Xl 038 63880
I, 58zah08 [ §5086 arad

Options :

1w Lo



5 s ML, 11,

3% I, 1

Question Number : 42 Question Id : 630680218454 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct regarding the Sugar Industry in India?
L. The raw material used in this industry is bulky, and in haulage its sucrose content reduces.

IL. This industry is seasonal in nature.

Options :

1 % Onlyl

> % OnlyIl

3.« BothIandII

4. % Neither I nor IT

Question Number : 42 Question Id : 630680218454 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



88T $B HOEH% 5020807 & 1§00 S KBV 67
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760 s,

I & 8% 1950 serdbmor Gotnod.

Options:
x| ST
5 % I S

3 ¢ | 08A Il Bodyr

4% 1 S Il QO 525

Question Number : 43 Question Id : 630680218455 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Which is the chronological order (first to last) of events following their occurrence with respect to transport

development in India?
[ Establishment of the Border Roads Organisation
II. The Golden Quadrilateral Super Highways project is launched.

[IL. The first train of India steams off from Mumbai to Thane.

Options :

| ¢ ILLI

5 % LILII



3 % LILII

4 % IL ILI

Question Number : 43 Question Id : 630680218455 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

& (806 F8S 88T e 9@ D020G00) 28/ dohte T irarroo
(B8 Dod N0 H85) A7

L 595 06) adTEAS T
I FOS ey AB0GS b ran (25 [rdododindod.
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Options :

1w L

5 s 1,1

3 s 1L

4% ML

Question Number : 44 Question Id : 630680218456 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Arrange the following iron and steel plants based on their location from north to south.
L. Salem Steel Plant
II. Bhadravati Steel Plant

III. Bhilai Steel Plant
Options :

| % LILII

5w ILILI

5 % ILLII

4 % OLLII

Question Number : 44 Question Id : 630680218456 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

& (508 B Aty &8 SoyrTon) G800 Dok ASENE T Yo errdor
@008,

L 200 0 o)
I @S 98 JTod
I, Dexcd 9 o

Options:

1w Lo,

5w I, L



3 s I L

4% L1 00

Question Number : 45 Question Id : 630680218457 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are NOT correct regarding ‘Right against Exploitation’ of the Indian Constitution?
L. Tt includes four articles.

IL. It provides protection against preventive detention.
Options:

1 % OnlylI

> % OnlyII

3 « BothIandII

4. % Neither I nor IT

Question Number : 45 Question Id : 630680218457 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
IR (S
, % I S

3 ¢ | 08 Il Body

4% 1 S Il A& 525

Question Number : 46 Question Id : 630680218458 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the correct order (from first to last) of the following fundamental duties mentioned in the Indian Constitution?
. To defend the country and render national service.
IL. To value and preserve the rich heritage of our composite culture.

II. To develop the scientific temper.

Options:

| v LILII

5 % OLILI



3 % OLLII

4 % ILTILI

Question Number : 46 Question Id : 630680218458 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

88 Tarsoto D) & 806 rODE A% K38 1600 B S0k M6 S8%)
JanEd?

L D7) G808 HOC FEH D @oBoSTE
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Options :

1w LI,
5 % N0,
3% L0

4 % 1,0, |

Question Number : 47 Question Id : 630680218459 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



What is the correct order (first to last) of the following articles regarding citizenship in which they appear in the Indian

Constitution?
1. Parliament to regulate the right of citizenship by law.
IL. Rights of citizenship of certain migrants to Pakistan.

III. Persons voluntarily acquiring citizenship of a foreign State not to be citizens.

Options :

| % LILII
5 % ILILI
3 % OLLII

4 v ILILI

Question Number : 47 Question Id : 630680218459 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2788 Tasofiod e’ Now0dod) §od @@édw@s D8 1800 (@S od 2B
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Options:

1o Lo,



5 s ML, 11,
3 s ML

4 I

Question Number : 48 Question Id : 630680218460 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following Indian states in descending order on the basis of seats allocated in the Council of States as of
March 2023.

Options :

1 % Jharkhand, Telangana. Haryana, Uttarakhand
5> « [Telangana, Jharkhand, Haryana, Uttarakhand
3 % Jharkhand, Telangana, Uttarakhand, Haryana

4 w Telangana, Jharkhand, Uttarakhand. Haryana

Question Number : 48 Question Id : 630680218460 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

78y 2023 38 TS & DE)S Lranosads B8 emdor & (808 880
TaFO® @58 5508 @880k,



Options :

| % &Q0B, Beorre, UL, GSURHOGE

, v SO0, 257008, TURT, GOUTHO&

, » Q0B Sworra, GEoRolk, U

4 % SOOTTE, 27008, ST ok, UL

Question Number : 49 Question Id : 630680218461 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Aurticle 226 of the Indian Constitution mentions about
Options:

1« Dbower of High Courts to issue certain writs

> % oath or affirmation by Judges of High Courts

3w Ppower of Supreme Court of India to issue certain writs

4. % oath or affirmation by Judges of Supreme Court of India

Question Number : 49 Question Id : 630680218461 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
2r8eh T7ers0f0S R e&ES0 226 B0 [DTIVOA.

Options :

v Q) 88exs 238 BAOERE IrFDed ) @hHFE0

3 % Q) 8850% 270 DAHEIS a8 NH@OFPIH Gd) edsdo

2rded ROFY T 3aHsrdde D0 & 55280 B S9NESe

4. %

Question Number : 50 Question Id : 630680218462 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct regarding the Governor of a State in India?

[ Unlike the president, the governor of a state does not have the power to promulgate ordinances during the recess of

the state legislature.

I1. The governor is appointed by the president.
Options :
1 % Onlyl

5 OnlyIl

3. % BothIandII



4. % Neither I nor I

Question Number : 50 Question Id : 630680218462 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
rOSTI0E 28 TR 15858 H020809) & 00 TS N8I B A7

L T8 B S0, T PN AT 0008 edRSol (H580s o658
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I 55850 T@aed Aohaa .

Options :
x| STSD
5 o I SSD

3 % | 08a% Il Bodar

4% 1 S Il DB 5%

Question Number : 51 Question Id : 630680218463 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which of the following statements is correct regarding the Indian Constitution?
L Article 161 of the constitution provides for an Advocate-General for the State.
II. The Advocate-General of a state shall hold office during the pleasure of the Prime Minister.

III. The Advocate-General of a state shall receive such remuneration as the Governor may determine.

Options :

1 = Onlyl
> % OnlyIandII
3 % OnlyIand III

4. Ounly III

Question Number : 51 Question Id : 630680218463 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
278 TeromE H020B00) & 1808 TBS KBS (HILS dE?

. Ters0803R) 908860 161 T T8 @538 2589 ©oBN08.
I 28 o7 @& 3E5-3580, N0 AGonn DB 48 Gotrd.
Il o7 e9¢853E-230988 85818 AQonod NP0 Jevdo ©0dE0Erd.

Options:

IR (S5

5 % 1 83D 11 S



3 % | HBAW I S

4o ST

Question Number : 52 Question Id : 630680218464 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which is the correct order (first to last) of the chapters of Part VI of the Indian Constitution?

Options :

1 = The Legislative power of the Governor, The High Courts in the States, The State Legislature
> % The High Courts in the States, The State Legislature, The Legislative power of the Governor
3. % TheHigh Courts in the States, The Legislative power of the Governor, The State Legislature

4« The State Legislature, The Legislative power of the Governor, The High Courts in the States

Question Number : 52 Question Id : 630680218464 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2786 TamofoS R Derdo Vi eoired 938 (§00 (BudE od D88 88 &7

Options :

| % (58)5 Odgy FdTRS O, TroS R ISP, TR TS0



5 % T arOS R 3rEDen, TR TSN, 15815 By FTOTOSEC

5 x TS Ir¥den, 5810 Tog)y THTRSE0, TR TR

4 v T T8, #5015 TBdy TG E0, TaFodSR 3rEPen

Question Number : 53 Question Id : 630680218465 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which is the descending order of the following positions with respect to rank and precedence in the Indian political

system?
1. Former Presidents
II. Governors of the states within their respective states.

[11. Chief Justice of India
Options:

| v ILLII
5 % LILII
3 % OLILI

4 % ILILI

Question Number : 53 Question Id : 630680218465 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2786 T80 SeSNS 77208 LB [FFEs 9020800 & (§0b T eddire
o 62

| 72 O aaalehne
I scsr O oo G988
[REALO HENAREVEIOWN 6!

Options :

1w L1
5 s 1,11
3 s ML, 0L

4% 1,00

Question Number : 54 Question Id : 630680218466 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In India, to contest the election of a municipality, a person must have a minimum age of
Options:
25

1.% 25

2 ® 23



3.« 21

4. % 18

Question Number : 54 Question Id : 630680218466 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

885508, SHATOS oS S Tahms, 8 5588 %o D050
N0 GOwE).

Options :

1. % 25

2. % 23

3.« 21

4. % 18

Question Number : 55 Question Id : 630680218467 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The elections of local bodies are conducted by the

Options :

1.« State Election Commission



2. % Election Commission of India

3 » High Court of concerned State

4. % Governor of concerned State

Question Number : 55 Question Id : 630680218467 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

T8 Dove ) Eew o500 QY sarotdndsEron.

Options :

| v T& A8 Hogho

5 % 288 DYES OO

5 % QOOGSG TR Y

4 x QOOOS TR K585

Question Number : 56 Question Id : 630680218468 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following articles of the Indian Constitution has provisions related to the Organisation of Village

Panchayats?



Options :

1. % Article 76

2. % Article 64

]

n

3 % Article :

4.« Article 40

Question Number : 56 Question Id : 630680218468 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2786 Tersofio & (808 & @A&3H0S T HoTaHae HoPS Now0BoD
Q0NN G 0W?

Options :
1 % 908520 76
5, @880 84

53 @880 55

4 v OO8B20 40

Question Number : 57 Question Id : 630680218469 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Second Round Table Conference was held in

Options :
1. % December 1930
2 « December 1931

3. % December 1932

4. % December 1933

Question Number : 57 Question Id : 630680218469 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

B0 Tof Dend DITrS40 S 28808.
Options:

1 % o020 1930

2« o020 1931

3 % oD 1932

4 % CGyoooadd 1933



Question Number : 58 Question Id : 630680218470 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Depressed Classes Association was founded by

Options :

1. % Mahatma Gandhi

> w LalaLajpat Rai

3. % Jyotiba Phule

4. + Bhimrao Ambedkar

Question Number : 58 Question Id : 630680218470 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

eoeTHS 3Ky DoMo T TDODDROA.
Options :

| % ST TOd

2 % ETEF OZ3NSITON

3 % BIBLT FS

4 o DTS @05



Question Number : 59 Question Id : 630680218471 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct?
I. In 1801. a subsidiary alliance was imposed on Mysore.

IT. Nana Saheb was the adopted son of Peshwa Baji Rao II
Options :
1 = Onlyl

5  OnlylIl

3 % BothIandII

4. % Neither I nor II

Question Number : 59 Question Id : 630680218471 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
& (80O HELXS B HBSE?
1 1801, DT @000 STl DE0TIDEHOE.

Il darg 2o Il By Aedcch o & erd.

Options:

A IR (B



5 o I S

3 % | 08N Il Bodayr

4% 1 B 1l D8 =5

Question Number : 60 Question Id : 630680218472 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the following revolt/Rebellion of India and their years.

Revolt Year

I | Santhal Revolt 1| 1910

II | Bastar Rebellion

I~

1940

IIT | Warli Revolt 3 | 1855

Options :

1. % I-3,II-2,1II-1

> o I3, 1I-1, III-2

3 % I-1,II-2,III-3

4 % 1-2,11-3,1II-1



Question Number : 60 Question Id : 630680218472 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
28030 260 & 1500 SSherend HBA T3 dossTod BETA0E.

a&harén 03¢ )60

|| oz S5 | 11 1910

1| 200 S&Heren |2 1040

|0 B8%ertn |3 158

Options :

1. % =3, 11-2, 11-1

2 o -3, 1I-1, 1Il-2

3 % -1, 11-2, 11-3

4 % 12, 11-3, 1111

Question Number : 61 Question Id : 630680218473 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs of organisations and its region is correct with respect to social and religious development

in Indian?

Options :



1 % Brahmo Sabha — Punjab
) % Arya Samaj — Calcutta
3 % Dev Samaj— Madras

4. Paramhans Mandali — Bombay

Question Number : 61 Question Id : 630680218473 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

2r8ST30S Rriras B0 SHSNERS SR8 020600 & (8od zoty Hoen
580 TR [0S0 oS I8 ¥BSE?

Options:
| w272 O - Hoerd
5 % @050 - SoiT

3 x B8 D7 - ST

4 ¢ PBDT0D Hodkd) - Soerow

Question Number : 62 Question Id : 630680218474 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
Arrange the following kingdoms in decreasing order with respect to the number of wars they fought with the British

East India Company.
[ Mysore
II. Maratha

III. Sikh

Options :

| v LILII

5 % OLILI

5 % LILII

4 % ILLII

Question Number : 62 Question Id : 630680218474 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

DE E0AAr 08 T Bk dde o Moot & 508 TE D
08ire (5008 08 08

. D
I NTT
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Options:

1w Lo,



Question Number : 63 Question Id : 630680218475 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the chronological order (first to last) of the following events?
I. Direct Action Day
II. End of World War IT

III. Cabinet Mission Plan

Options :

| v ILILI

5 % LILII

3 % OLILI

4 % ILLII

Question Number : 63 Question Id : 630680218475 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
& 1808 DoNENS SOESTOTO0 (BN D0 DH0 S8 Dae3?

. 05 ordS @
I Bohs 1HD0Y AP0 SR
., 5°50TE) aadd T

Options:

1w L

5 s 1, 1

3 s I, 0L

4 % I, 1,

Question Number : 64 Question Id : 630680218476 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Disinvestment of PSUs is classified under which of the following economic reforms?
Options :
1. % Liberalisation

2 % Centralization

3. # Globalisation



4.+ Privatisation

Question Number : 64 Question Id : 630680218476 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
PSUS PR GH00T0H ©TO §08 2 edd Hoddne [Bod $00satod?

Options :

1% DEDESe

, » SOB¥de
5 % DDODESE

4 v (23888

Question Number : 65 Question Id : 630680218477 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following Central Public Sector Enterprises is classified as Maharatnas company?
Options:

1 « Indian Oil Corporation Limited

> % Mahanagar Telephone Nigam Limited



3 % Alrport Authority of India

4 % Tourism Corporation Limited

Question Number : 65 Question Id : 630680218477 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

& (808 B3SO 0/& (Hehe: S0k K0P sy Sopdr $O%BownG0s?

Options:

| v R0GADHS esand F)BAS OBE (Indian Oil Corporation Limited)

o oD BOYPS A DTG (Mahanagar Telephone Nigam Limited)

. DONBYED ewrrded e oGaST (Airport Authority of India)

. 8230 =HI0AS DT (Tourism Corporation Limited)

Question Number : 66 Question Id : 630680218478 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following five-year plans was launched after the new economic policy of 19917
Options :

1 % Fifth five-year plan



> % Sixth five-year plan
3 % Seventh five-year plan

4. Eighth five-year plan

Question Number : 66 Question Id : 630680218478 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
1091 §8 e30¥ Ao STse & 1808 H03Sd DS 28 [Eodostod?

Options :

20585 HodSE | HerP¥

, @385 DO (DeTDE

5w DB HOBY (DeT DY

4 v DD D0SE (DerrD¥

Question Number : 67 Question Id : 630680218479 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who was the first to argue that in the face of high deficits, people would save more?

Options :



1.+ David Ricardo
2 % Adam Smith

3. % Alfred Marshall

4 % Amartya Sen

Question Number : 67 Question Id : 630680218479 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
@08 Stne BRG0S (HEe & ST TIED GG TAODNE dd?

Options :

 » BG 85§ (David Ricardo)

5 % €3¢ 38 (Adam Smith)

5 % BE)E SIS (Alfred Marshall)

4. % e008: DS (Amartya Sen)

Question Number : 68 Question Id : 630680218480 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



With respect to the Green Revolution in India, what does "HY'V" stand for?
Options :

1 % Hidden Yielding Variety
5 % Healthy Young Variety
3. High Yielding Variety

4 % Hyper Young Variety

Question Number : 68 Question Id : 630680218480 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
2rd 5506 T8 IDTFIE H020E0D, "HV' BAD drdN0&?

Options :

L S &iberxdh IBE3 (Hidden Yielding Variety)

5 % &85 RS cHol IBeE3 (Healthy Young Variety)

5 v OOF SHDAIT,) IBES (High Yielding Variety)

4« 2D ddoh 38¢3 (Hyper Young Variety)

Question Number : 69 Question Id : 630680218481 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

"Garibi Hatao" was one of the two main objectives of which Five-Year Plan of India?

Options :

1.« Fifth Five-Year Plan
2 % Sixth Five-Year Plan
3. ® Seventh Five-Year Plan

4 w Eighth Five-Year Plan

Question Number : 69 Question Id : 630680218481 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
2r8STH0 RNEy o) H0WSE Herds Bwd) Bodh (NS oFIoS WY st 2887

Options:

2585 HoIIE | HerD¥

1.4

5w @885 HOWSY (DeTPE

5 x2S DOWSY (DeT R

4w DAWAS HOSY (e



Question Number : 70 Question Id : 630680218482 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the following Five-Year Plan with their main objective.

Plan Objective

[ | Second five-Year Plan | 1 | Rapid Industrialization- Heavy & basic industries

1T | Fifth five-Year Plan

(]

Towards Faster & More Inclusive Growth

III | Eleventh five-Year Plan | 3 | Attainment of self-reliance

Options :

1 % I-1,1I-2,III-3

5 -1, 11-3, II-2

3 % 13,112, 1II-1

4 % I-2,11-3, III-1

Question Number : 70 Question Id : 630680218482 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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| DEF0% D08 (DR | 3| Rrsdernnd Ar

Options :

1. % 10012, 11-3

2« 1, 1I1-3, 1ll-2

3 % -3, 192, 1111

4 % 2, 113, 111

Question Number : 71 Question Id : 630680218483 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs is correct regarding time periods and economic development in India?

L. Mid 1960s to mid-1970s; First phase of the green revolution

IT. Mid 1970s to mid-1990s: Second phase of the green revolution
Options :

1« Onlyl

> % OnlylIl



3. % BothIand III

4. % Neither I nor IT

Question Number : 71 Question Id : 630680218483 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2EBB308 TODSEN HB0 8dsDNE8 Honodod & §od zobeS IO NBE?

| 19600 N3z A0 19700 i)z SUKY: aFOeh el TS, T
I 18700 a0Chs Aok 19900) aeds SUK: aFOE o C3n8) Tochs) ¢

Options :
PR IR (5
, xS

3 % | 8 Il Bodsy

4% 1 B Il Q& 5%

Question Number : 72 Question Id : 630680218484 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per the 2011 census of India, what is the approximate percent of Scheduled Tribes (ST)?

Options :



Question Number : 72 Question Id : 630680218484 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
28350 Q&) 2011 e 8450 (D50, AT Sie (ST) By WAFD TS0 Jod?

Options :

1. % 6.6

2. % 7.6

3.v 86

4. % 9.6

Question Number : 73 Question Id : 630680218485 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Varishtha Pension Bima Yojana is under which Union ministry?
Options :

1« Ministry of Finance

5> % Ministry of Social Justice and Empowerment

3 » Ministry of Home Affairs

4 % Ministry of Health and Family Welfare

Question Number : 73 Question Id : 630680218485 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
380 DS DA TWresed Q) Tod o@bs T 180855 SN0H?

Options :

| 808 Doess T

5 88 00 B QT ES HOEBSS FTY

3 % OU0 SFOTTO NOBSS T

4 % &85 HBA Hoetnoa HOFH Dol T

Question Number : 74 Question Id : 630680218486 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Ministry of Social Justice and Empowerment has launched an scheme called the SMILE scheme for
Options :

1« Support for Marginalized Individuals for Livelihood and Enterprise
> % Old age home of elderly
3 % Free gas connection to women

4 w Free higher education for economically weaker sections

Question Number : 74 Question Id : 630680218486 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

a8 000 By OO doEes T §00 20 (SMILE) &7 HET)
DA

Options :
| BTG HBA Mot e Eh0 et S5eR P
5 % DIVO FE JyEro

3 % sNarFody tréd MR §[ES

4 % GO0 SDEDGAG ST'O GO 5d) & DS



Question Number : 75 Question Id : 630680218487 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The New Education Policy (NEP) 2020 has introduced a new structure of

Options:

Question Number : 75 Question Id : 630680218487 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
S s A0 (NEP) 2020 ©3 §8 o End HadnBod.

Options :
1.« 5+5+ 2+ 3

)@ 5+ 3+3+4

3% 4+ 4+ 4+3



4% 6+ 3 +3+3

Question Number : 76 Question Id : 630680218488 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Kinnerasani River is an important tributary of which river flowing in Telangana?

Options :

1.« Godavari
2. % Krishna
3 % Cauvery

4 % Wainganga

Question Number : 76 Question Id : 630680218488 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
SO |DIF0T o) SO8 ETETA IO 28 SVVIDS ESE?

Options :

1.4 ﬁGCTc;S[?J

5w ST



3. % Snle

4 % DB

Question Number : 77 Question Id : 630680218489 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which district of Telangana is rich in Manganese ore?
Options :

1 % Jagtial district

2« Adilabad district

3 % Jogulamba Gadwal district

4. % Hanmumakonda district

Question Number : 77 Question Id : 630680218489 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
SOOTRS R & 2 SrofdD pABO DVYEOT od?

Options :

e 230

1. #
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Question Number : 78 Question Id : 630680218490 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

After the bifurcation of Andhra Pradesh, the Telangana state is the largest State in terms of both area and the

size of the population in the country.
Options :

1 % l.iTh

Question Number : 78 Question Id : 630680218490 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1 % 13
2 ® 8ad
3 % 1025

4 123

Question Number : 79 Question Id : 630680218491 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Into how many agro-climatic zones is Telangana state divided based on geographical characteristics such as rainfall,

nature of soils, climate etc?

Options :

I~

Question Number : 79 Question Id : 630680218491 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

$8ardo, Too Hrdo, TEHdao A8 FHYE ofae srdor 80orn TR0
Q) DO THOE aN0GETENT aeB0IG06?

Options:

1.4 4

Question Number : 80 Question Id : 630680218492 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per the Telangana State Development Planning Society (TSDPS), Planning Department report-2021 what is the sex

ratio (Females per 1000 males) of Telangana?
Options:
1. % 978
2. « 988

3 % 968

4 % 958



Question Number : 80 Question Id : 630680218492 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Boorn 8 Boadot) AR FE (T30ps), rof ArfRot) ARd%021 (Hs80
Bo0me 00 AS (1000 H08 HDVOH (V) Joek?

Options :

1 % 978

5> 988

3 % 968

4 % 958

Question Number : 81 Question Id : 630680218493 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which city of Telangana has been recognized as the “Tree City of the World- 20217 by the Arbor Day
Foundation and the Food and Agriculture Organisation (FAO) of the United Nations for the second
consecutive year?

Options :

1 « Hyderabad

5> % Warangal



3 % Karimnagar

4. % Adilabad

Question Number : 81 Question Id : 630680218493 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

985 B 0B B0k RgTresdade Gng) ) @0k o800 eSENS (FA) T
SENT B 06150 (63 e &5 & $89- 2021" 17 Beroraad R ) Siido HBo)
SPOROE?

Options :

| ¢ OTE

5 % SEO8S

3 % $80585

4 % @OEFrO

Question Number : 82 Question Id : 630680218494 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per the Telangana State Development Planning Society (TSDPS), Planning Department report-2021 what is

population Density (Persons / Sq Km)of Telangana?

Options :



5 % 412

4 % 212

Question Number : 82 Question Id : 630680218494 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Boome DO BeRo) 0N FE (T5Dps), TAOF GrdRod) 802021 (D580
SO0 20 00 (XD 1 A8 §ab) Jo?

Options :
1.« 312
2 ® 412

3 % 512

4 % 212

Question Number : 83 Question Id : 630680218495 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Read the following and select the correct statement(s):

A: Bharat Heavy Electricals Limited (BHEL) has bagged the contract for the construction of the Yadadri Ultra Mega
Power Plant (UMPP).

B: Yadadri Ultra Mega Power Plant (UMPP) is a 4,000-megawatt (MW) power station.

Options :

1 % OnlyA

> % OnlyB

3.« BothAandB

4. % Neither Anor B

Question Number : 83 Question Id : 630680218495 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
& (8080 8 9B, 13N (PENE@) dothSod:

A O O T 96 o) (UMPP) Aome S0[Erdd ardd am) Jo§0) Otk
(BHEL) D38)0t0%008.

B OO @ BT 55 Toe) (UMPP) 4000 DTt (MW) 55 DA,

Options :

| x A SIS

, x B @D



3 ¢ A OC B Bodsr

4% A O B 08 5260

Question Number : 84 Question Id : 630680218496 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Read the following and select the correct statement(s):

A: As per reports of the Central Electricity Authority as on 31% August 2022, the total installed power capacity in
Telangana was 18029.39 MW

B: In October 2020, the Telangana State Government rolled out a 10-year Electric Vehicle (EV) policy.

C: As per the Provisional Advance Estimates for 2022-23 given in Telangana Socio Economic Outlook 2023,

Telangana’s Gross State Domestic Product (GSDP) at current prices is 313,27 lakh crores.
Options :

1.« ABandC

2 % BothBandC

3. % BothAandB

4 % OnlyC

Question Number : 84 Question Id : 630680218496 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
& 1500 ) AR, ABY (MENO)D dothEod:

A 2009 Jo 508 arss 308 N80 31 et 22 T8 Bvores Jndo TS
A8 00 18020.39 MW,

B: &§20 20205, Boome T3} (HENS10 10 dosSITe e ]rED EY) AT
Orro0W08,

C: 20223 )08 Aot @odTre (350, (N (de (5o Boors e T
DI0rS)S (GSDP) $1327 ofe 6,

Options :

1« A B 08w C

2 % B o08al C Bodky

3 % A BA B Bodsr

4 % C (&S

Question Number : 85 Question Id : 630680218497 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Match the following power projects and their respective location/district:

Power project Location/district

A. Nagarjunasagar Hydroelectric project| 1. Nizamabad

B. Pochampad Hydroelectric Project 2. Nalgonda

C. Singoor Hydroelectric Project 3.Mahabubnagar

D. Srisailam Hydroelectric Project 4. Sangareddyn

Options:



| % A-1.B-2,C-4,D-3

5 v A-2.B-1,C-4,D-3

3 % A-2.B-1.C-3,D-4

4 % A4,B-1,C-2,D-3

Question Number : 85 Question Id : 630680218497 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
& (800 DD |raEfen DA T D00AS 0BT asTahod:

NG [@rodo/Be®

A TFOSND ZONS (B | 1. Nerdrard

B. F50arG ZOVNESE (rEs |2 dD0d

C. LOATD 20NIS (2rEF 3.00020°e) 9D

D. 9300 200 (25 4. HorroR

Options :

| % A1, B2, C-4, D-3

2 « A2, B-1, C-4, D-3

5 % A2, B-1, C-3, D-4



4 % A4, B-1, C-2, D-3

Question Number : 86 Question Id : 630680218498 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Read the following and choose the correct statement(s):
A: Malinadha Suri from Medak made Telugu interpretations of Kalidasa’s poems.

B: Baddena wrote ‘“Neethi Shastra Muktavali®

Options :

1 = OnlyA

> % OnlyB

3.« BothAandB

4. % Neither Anor B

Question Number : 86 Question Id : 630680218498 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
& 1800 TE A OB (HELN@) dothTod:

A TIT DO DA TodY HOTE 8 BenHSE @SB,
B: 230 ‘W& TR TP TF.

Options :



| x A SIS

B oA ¢5ad

3 ¢ A DBCH B Bodkr

4% A B B DO 5%

Question Number : 87 Question Id : 630680218499 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the correct pair(s) from the following:

Heritage site Location/district
A. Fort of Idgal Adilabad
B. Kesavardhana panchamulkha lingeswara temple | Jagtial
C. Gnana Saraswathi temple Nirmal
D. Tringeswralyam Siddipet
Options :

1. % BothAandC

2 % Both AandD

3 % OnlyA, CandD

4 v AB. CandD



Question Number : 87 Question Id : 630680218499 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
& (808 T3 oG BBS 2368 Do odk:

S8 ¢ |IHTEo |roedo / 3

A. S0OO Ty AT

B. 355535 Hotdsdwe Oofd 58 Barerxaho | ShEsO

C. 2 HEHD eHAHo QBO
D. (R003 07 aH0 O
Options :

1. % A 0B8C ¢ Bodr

2 % A 08ci D Dodr

3 % A C 0BCW D Sr(ehad

4 v A B, C 085 D

Question Number : 88 Question Id : 630680218500 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Dhokra or Dokra is also known as bell metal craft and is widely seen in district of Telangana.

Options :



1.« Adilabad

2 % Nizamabad

3 % Nalgonda

4 % Warangal

Question Number : 88 Question Id : 630680218500 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

s B &5 B 0O 57 @ drw dewdd H 26 Boorndd
B DB EANV0B,

Options :

1 ¢ eabererd

7 % IO
3 % Q0

4w SRS

Question Number : 89 Question Id : 630680218501 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Bonalu is a Hindu Festival, celebrated during the Telugu month of in Telangana.

Options :

1 = Magham

> % Pushyam

3. % Sravanam

4.+ Ashadam

Question Number : 89 Question Id : 630680218501 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Sren 836 SFodue dodd, A Boorad g TS 2dy%0erd.

Options:

Question Number : 90 Question Id : 630680218502 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the following heritage sites and their respective location/district:

Heritage site Location/district

A. Devarakonda fort | 1. Nizamabad

B. Domakonda Fort | 2. Adilabad
C. Niramal fort 3. Karimnagar
D. Elagandula Khilla | 4. Nalgonda

Options :

| v A-4.B-1,C-2,D-3

, % A-1.B-2,C-4,D-3

3 % A2,B-1,C-4,D-3

4 % A-3,B-1,C-2,D-4

Question Number : 90 Question Id : 630680218502 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



& 1800 IS5 (HBFOD OO0 a7 H0R0dS |FoS0ETE BSHoN0G:

FENS 5 |DT¥0 | oo/ B¢

A B8F0% €& [ 1. Qeradrard

B. OF0d & |2 edererd

€. %O &8 3. $B0dK6

D. dofodve e | 4. S0

Options:

1.« A4, B1, C-2, D-3

> % A-1, B-2, C-4, D-3

5 % A-2, B-1, C-4, D-3

4 % A-3, B-1, C-2, D4

Question Number : 91 Question Id : 630680218503 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Read the following and choose the correct statement(s):

A: Medak fort was built during the reign of the Kakativan ruler, Pratapa Rudra.

B: Medak fort was built in the 12t century.
Options :

1 = OnlyA



> % OnlyB

3 « BothAandB

4. % Neither Anor B

Question Number : 91 Question Id : 630680218503 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
& 1808 TEA AN DB (HELJE)N dothEodk:

A DES Fo sEA0H Foden HE B oo AB09G08.
B AT §& 125 o Q80090508

Options :

| x A SIS

, % B @D

3 ¢ A BA B Bodr

4% A S B OO 5%

Question Number : 92 Question Id : 630680218504 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



As per historians, the Sammalka Saralamma shrine in Warangal is reported to have been built during the century.

Options :

1 1 2'['11

4. % lSTh

Question Number : 92 Question Id : 630680218504 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

S8 8580 (3550, S6ISSR Dy besy 13 5208 8052505
AN

Options :
1 ¢ 12
o % 1325

3 % 1429

4 % 158

Question Number : 93 Question Id : 630680218505 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

During which Telugu month does the Medaram Jathara begin in Telangana?
Options :

1 % Pushya

>  Magha

3 % Phalguna

4. % Chaitra

Question Number : 93 Question Id : 630680218505 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

B00maS DEB0 2SS & Beh VDS |FB0E0HB0E?
Options :

1 % QNSO

2. v 8000

e

4 % BIS0



Question Number : 94 Question Id : 630680218506 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Perini Shivatandavam is a war dance originated during the century when Kakatiya dynasty was in supreme

power reigning across Telangana state.
Options :

1. v l{}Th

> % 11t

3, % 12Mm

4. % J.STh

Question Number : 94 Question Id : 630680218506 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

208 WFokio OO $7208 T480h Tadodo Boomn TR TONS)
H00H0S GAI0DY A dyeeo.

Options :
1 & 10

o % 1125

3 % 1225



4 % 13

Question Number : 95 Question Id : 630680218507 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Read the following and choose the correct statement(s):

A Asof 2022, Telangana is ranked 4% in Tndia in terms of solar power production (as per reports of the Ministry of

Statistics and Programme Implementation).

B: As0f 2022, Telangana is ranked 2 in Tndia in terms of solar power capacity per unit area of land mass (as per

reports of the Ministry of Statistics and Programme Implementation).

Options :

1 = OnlyA

> % OnlyB

3.« BothAandB

4. % Neither A nor B

Question Number : 95 Question Id : 630680218507 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



& 1808 T YA MDD (HELIO)D dothod:

A 202 T8 0 A 688 Boomea riSTIS 48 TS God (ferosen
00 G5 eden dodss T 3B (Hsdo)

B 2022 88, (9 ohrdd RGeS &8 Dd oS Boomn TS 28
08 G0d. (ferosen B FEEH @hey HoBds T VB0 (Hsdo)

Options :

| x A SIS

, % B S

3 v A 080 B Bodke

4% A B B OO 5%

Question Number : 96 Question Id : 630680218508 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the scheme and its respective description:

Scheme Description

. Creation of effective infrastructure in schools

—_

A. KCR Nutrition Kit

I

B. Mana ooru - Mana badi | 2. One-time grant of 210,00,000

C. Dalit Bandhu . Launched in 2018

D. Kanti Velugu

| w0

. Aimed at reducing Anaemia

Options :

| % A-1.B-2,C-4,D-3



, % A-2,B-1,C-4,D-3

3 % A-2.B-1.C-3,D-4

4 v A4,B-1.C-2,D-3

Question Number : 96 Question Id : 630680218508 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
HHE0 BN TR D00 Db 2enohodk:

Je¥o AN =
A T2e0 Jrge3ad 85 | 1. 870 QSN0 TOLIF RS dyn

B. s € - SN DG | 2. IR-Tow [0€) £10,00,000

C. 896 205 3. 20188 [FE0D0EOE
D. %083 ek 4. 88arcsed 3ot ©F :0
Options :

1. % A1, B2, C-4, D-3

5, % A2, B-1, C-4, D-3

5 % A2, B-1, C-3, D-4

4 A4, B-1, C-2, D-3



Question Number : 97 Question Id : 630680218509 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Read the following and choose the correct statement(s):

6lh

A: Telangana has been ranked 6™ in India in the Sustainable Development Goals (SDGs) index for the year 2020-21.

B: Telangana has scored 69 out of 100 in the SDGs index for the year 2020-21.

C: Tamil Nadu scored less points than Telangana in Sustainable Development Goals (SDGs) index for the year 2020-21.

Options :

1 % A . BandC

2 % BothBandC

3.« BothAandB

4 % OnlyC

Question Number : 97 Question Id : 630680218509 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



& 1808 T 90 A3 [NELI©)D JohEod:

A 202021 H0SS)TRE TR 2rBST0S R8s @ddyd oFien (506 20F5)S Sors
65 08 &b,

B 202021 H0SS$I08 3DGO NrDES Soome 1008 89 )5 TA0A.

C: 202021 H0SS)TRE 8 @YD ©F (30Gs) AFDES Boome §0T) SMTTERS
80300 aFONOEY T 0N,

Options :

1 % A B 08w C

2 % B o08C C Bocdr

3 ¢ A BA B Bodr

4 x C SIS

Question Number : 98 Question Id : 630680218510 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following schemes of Telangana government in the chronological order (launch year):
A. KCR Nutrition Kit

B. Dalit Bandhu

C. Kanti Velugu

D. Kalyana Lakshmi

Options:

1 v D.C.B,A



, % AB,D.C

5 %« AC.D.B

4 % AB.C.D

Question Number : 98 Question Id : 630680218510 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SO0 (9206850 0%y 68 1800 HPFON FOENIRG0 (20025 M05¢800)
@8)0é:

A 3o drgBad 86
B. A9 2060
c. $o¢3 Je

D. $sme98;
Options :

1+ D C B A
, % A B D, C

5 % A C D, B

4 % A B C D



Question Number : 99 Question Id : 630680218511 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Consider the following and select the correct pair(s):

Scheme Launch year
A. Kanti Velugu 2018
B. Dalit Bandhu 2021
C. Mana ooru - Mana badi | 2022
D. KCR Nutrition Kit 2015

Options :

1. % BothAandC

2 % BothAandD

3 « OnlyA, Band C

4 % AB.C and D

Question Number : 99 Question Id : 630680218511 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



& 1808 30 HB%ESSE BnHR, HBS BeS(©)D JothEod:

%o 80889 N0Sed 80
A. $0e3 Jenh 2018
B. 3%¢5 2080 2021

C. o0 & - oed 226 | 2022

D. S0esd &g ¢3S 865 2015

Options :

1. % A 0B8CA ¢ Bodr
2 % A 08ain D Bodkyr

3 v A B BAM C @

4 % A B, C 0O D

Question Number : 100 Question Id : 630680218512 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Consider the following and select the correct statement(s):
A: Ramagundam Thermal Power Station is commissioned in 1971
B: Yadadri TPS is an upcoming 4000 megawatt, supercritical thermal power project.

C: Bhadradti Thermal Power Station is a proposed power plant project located near Edulla Bayyaram at Manuguru
Options :

1« ABandC



2 % BothBand C

3. % BothAandB

4 % OnlyC

Question Number : 100 Question Id : 630680218512 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
51800 T8 HOKRSE SSHd, dBS SO JobFod:

A T0d0 G50 D55 DS 19718 [Fréodotadod
B QT TPS T T 4000 RTaTd), @98 Snasddd A& a6 (2.

C: M &80 356 DAD Heir SO A0 20880 HN0S &) (NBTOS 356
ooot) [orER

Options :
1 v A B 08w ¢
2 % B o08C C Bocdr

3 % A BA B Bodsr

4 % C (&S



Question Number : 101 Question Id : 630680218513 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following in chronological order (commissioned year):
A. Nagarjunasagar Hydroelectric Project

B. Singur Hydroelectric Project

C. Srisailam Hydroelectric Project.

D. Pochampad Hydroelectric Project

Options:

| % A.C.D.B

, « B.D.C.A

5 %« AD.B.C

4 v D.AC.B

Question Number : 101 Question Id : 630680218513 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



& 1300 0 TOESFNTE0 (D0 TAHo J0AB Mo S0 ador) @diob:
A TSN OIS |25

B. M0AFD 2oNdé [raf

C. (4300 208 [orEs.

D. &Fioarh 2oa;S (ras

Options :

1% A C D B

, % B, D C, A

;% A D B C

4 v D A C B

Question Number : 102 Question Id : 630680218514 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Kalyana Lakshmi scheme is launched by the Telangana government for girls who have completed 18 years of age at the

time of marriage and whose parental income does NOT exceed per annum.
Options:
1.« %2 lakh

2. % %I lakh

3 % I3 lakh



4. % %4 lakh

Question Number : 102 Question Id : 630680218514 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

DT D208 18 N0 Tmen Aot B $OG0He BmoHo No% TS
o 2rd¥e §d0 Boome (50 drmes; Hds) rdododod.

Options :

1 ¢ 32 ©fen

5 % 31 ©F

3 % I3 ©Few

4 % 34 ©fFen

Question Number : 103 Question Id : 630680218515 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Consider the following and select the correct statement(s):

A: The merger of the Telangana government’s Aarogyasti Health Scheme and Centre’s Ayushman Bharat Scheme has

increased the maximum health protection to Z5 lakhs per year.
B: The upper limit under the Aarogyasti scheme was 22 lakh per year before merging with Ayushman Bharat Scheme.

C: Aarogyasri scheme includes 15 Organ Transplantation Surgeries.



Options :

1.+ BothAand B

> % OnlyB

3 % A,Band C

4 % AandConly

Question Number : 103 Question Id : 630680218515 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
& 800 B OIS SNHHR, 9B DS dohEos:

A Boome (Nihés ebifld adt Jddo HBak 3odo g soiend de Nl
AON0E HosS T8 107 el 6ia B ofod BB,

B oS 2708 HE%08 NS0 Tahmag swody ek Hddo 8ol 183 HONS
NORBITRS T2 & ew.

c: a3 D880 15 IS r)G 38BN GO,

Options :

1 ¢ A DB B Bodr

, x B @D

3. % A Bn8aw C



A S0BC50 C 53

4. %

Question Number : 104 Question Id : 630680218516 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Read the following and select the correct statement(s):

A: WE Hub is a start-up incubator launched by the Telangana government exclusively for women entrepreneurs.
B: The full form of the TASK scheme launched by the Telangana government is Telangana Academy for Skill and
Knowledge.

Options :

1 = OnlyA

> % OnlyB

3.« BothAandB

4. % Neither Anor B

Question Number : 104 Question Id : 630680218516 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



& (808 T 6, A3 DELNO)D dotEod:

A WE 78 90 80omn (N0 [akor Liree FoFiade §o @rdododd
JEo 50505285,

B: 00T (M550 [@r8080ds TASK %o @ug, 50 &m0 Boome esta N0
O ©0k TOd.

Options:

;% A SIS

, x B @D

3 ¢ A BCA B Bodsr

4 % A B B O 50

Question Number : 105 Question Id : 630680218517 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
How many MLA seats did Telangana Rashtra Samithi win in the General Elections held in April 2014 to emerge

victorious and form government in Telangana state?

Options :

1.« 63



>
#
N
L2

Question Number : 105 Question Id : 630680218517 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

8o0ma 00 D500 FO0D [HNE R JTE) BR0GE JHS 2014 267
e IS Boorn TR HDS AR 208 Tood Tenhdod?

Options:

1. 63

2. % 73

3. % 93

4. % 53

Question Number : 106 Question Id : 630680218518 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Arrange the following in chronological order:
A. Telangana became Hyderabad State with the appointment of M.A. Vellodi as chief minister.
B. First elections held in Hyderabad State

C. 'Tai Telangana' movement for separate statehood to Telangana began.
Options :

. v AB.C



2 % B,.C.A

+ A.C.B

4 % B,A.C

Question Number : 106 Question Id : 630680218518 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
& 1808 a3 soddrdirrdo @hd)ok:

A Q036 $09:50 3T dahdosdos Beors ETErE TR0T X806,
B. 37ATrE 008 IndESTFOT J)Een 26mo

C. 8oomad NS T PN SN0 B Boore G0 (EodRod.

Options:

. v AB.C

2. % B.C.A

5 % A.C.B

4 % B.A.C

Question Number : 107 Question Id : 630680218519 Question Type : MCQ Option Shuffling :



Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per bill passed for separation of Telangana, in 2014, for how many years from the appointed day of Telangana

formation Hyderabad will be the common capital for both states?

Options :

1. ¢ 10 vears

9 % 5 years

3 % 8 years

4 % 15years

Question Number : 107 Question Id : 630680218519 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

20148 Boorn TR A5z DD N80 Booma JE)EY TE K00 ) HoNSIT
2re) rOTrE ol TfOR Gand TEEIT Gotnod?

Options :
w
1 v 10 DOHS T eD

5 % 5 Q0ABHTED

3 % 8 Q0ADBHT N



4 % 15 Q0BT ED

Question Number : 108 Question Id : 630680218520 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following in chronological order;
A, Dr Burgula Ramakrishna Rao was elected chief minister of the Hyderabad State in its first democratic election.

B. The Indian government conducted a military operation called Operation Polo to bring Hyderabad state info the Indian

Union.

C. The Commission consisting of HC Heda, Konda Venkat Ranga Reddy submitted its report and recommended the

formation of Telangana state.

D. M Chenna Reddy, founded the Telangana Praja Samithi (TPS) political party.
Options :

1 v B.AC.D

, « D,AC.B

5 % C.BLAD

4 % B.C.D.A

Question Number : 108 Question Id : 630680218520 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



& 1800 T8 ToEarRrdo @S0k

A @50 ardeo odEroy) wETEE T8 i (NEry Ao
A0S o)) i,

B, SrO0r0 01l B0GHS ArAoHIS’E SQTEEE b 156980 @it
FS o P 85 ABErodod.

C. D0 7w, Sor 3088 SomrdRE Erdd NS &8 AS0%D dehBi0d) 8ooms
T3 T8 DO BROE.

D. )0 D) 00 oo e b (TPS) TSk 09 0T,
Options :

1« B A C D

, % D, A C B

5 % C, B A D

4 % B, C D A

Question Number : 109 Question Id : 630680218521 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In which year M Chenna Reddy, founded the Telangana Praja Samithi (TPS) political party to spearhead the statehood

movement?

Options :

1« 1969

> % 1971



3 % 1973

4 % 1975

Question Number : 109 Question Id : 630680218521 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

o) Y BARIAS Tahés 0 SiroSochd Bvome [P Hd (TPs) Tdah O o
oS 1%08" o Ty B8 TRoTE?

Options :

1« 1969

5> % 1971

3 % 1973

4 % 1975

Question Number : 110 Question Id : 630680218522 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the 2009 general elections, how many Lok Sabha seats did Telangana Rashtra Samithi (TRS) win?

Options :

1. % 4



I-2

Question Number : 110 Question Id : 630680218522 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2009 778 5(e38 D}Qgé@ﬁ BOOmE T3 NS (TRS) DAY 508 Trodh Tenchdod?

Options :

Question Number : 111 Question Id : 630680218523 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Five girls F, K, M, P and R are sitting in a row facing towards south (not necessarily in the same order). No one is
sitting towards the right of F. Three girls are sifting towards the left of R. K is second to the left of M. Who is sitting

third to the right of K?



Options :

1.+ R

2. % M

Question Number : 111 Question Id : 630680218523 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

F K M, P 8o R @7 adihd ardéoned SHNS d§ardsngormr drdmd
@556 €908 G0 @580 BA). F § HE 338 Jér &r8)8%. R § b

J

3% S esmonen Erd)Td. M & b B Bodd TS K drdymd.
wond K & S 3 g 808 b SrdyTdn

Options :

1.+ R



Question Number : 112 Question Id : 630680218524 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Sixwomen A, B, C, D, E and F are sitting around a circular table facing towards the centre (not necessarily in the same
order). Two women are sitting between A and D. Two women are sifting between C and F. B is not the neighbour of A or
C. A s not sitting to the immediate left of E. Who is sitting second to the right of C?

Options :

Question Number : 112 Question Id : 630680218524 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A B, C D E NOC) F &F adid sirden af SEsd Dand iy ot
@m0 dr8)T & ©F E5H0S Gomd)d ®980 BE. A HB0 D © HS
208 Serden Erd)m8. ¢ B F & i add sirsen drdad. A S ¢ ©
a8y DT B . E S S5 Ak 33 A §r8)8. @ond ¢ § & 9 Bodks

TH0S A5 Sy

Options :



Question Number : 113 Question Id : 630680218525 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If today is Monday, then what will be the day after 25 days?

Options :

1 Friday

> % Thursday

3 % Wednesday

4 % Saturday

Question Number : 113 Question Id : 630680218525 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2.83% &2 P00 ons, 25 Here) SUrseh o 527 HW0A?

Options :

PR isbvyele



> % OG0

53 % 20QG0

4 % 3Q3G0

Question Number : 114 Question Id : 630680218526 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Saahil is standing at 3 position from the end in a row. If there are 98 people in the row, then what is his position from

the start of the row?

Options :

1. % 70

2. #® 67

3. % 68

Question Number : 114 Question Id : 630680218526 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

25 S80S S D0 008 305 TS AoaFd. & SIS % $H08 GoB, K&
G080 oG @S TR0 J?



Options :

1. % 70

2. % 67

3 % 68

4.+ 69

Question Number : 115 Question Id : 630680218527 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which day of week was there on 6t 1 uly 20117

Options :

1 = Tuesday

> % Monday

3« Wednesday

4 % Thursday

Question Number : 115 Question Id : 630680218527 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
FE0S D e, 6 2B 20115 SN0H?

Options :

1 % oigado

2 % TS0

3 v QG0

4. ® VeV nylele)

Question Number : 116 Question Id : 630680218528 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the following question below are given three statements followed by some conclusions based on those statements.
Taking the given statements to be true even if they seem to be at variance from commonly known facts. Read all the

conclusions and then decide which of the given conclusions logically follows the given statements.
Statements:

LAllNare Q.

I Some Q are P.

L. NoPisR.

Conclusions:

[ Some QareR.

I Some Nare R.

I AllQareN.

Options :



1 % Only I conclusion follows
5> % Only II conclusion follows

3. % Only III conclusion follows

4.+ No conclusion follows

Question Number : 116 Question Id : 630680218528 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
& (800 (91O Srdh (N8hden, & (HEade ador TN @fNer §R) sufode

93T, 9N (LN PEFOROT SOV FUTORH D)0 ey
@0, T TS0 rNood. @) snfoe $B, Al mhond’ A8

F880m [HEHd0R aknbod Aganood.
28Ee:

L N o) ©d) Q e,

I §) Q e P e,

Il P & R .

0A090N:

| §0) Q en R ew.

I §0) N e R e,

Il Q e) @) N e,

Options :

1 % SBOY | SR OO0



5 % A0 I S @O0

5 % S0A0Y Il STS DHIBROE

4 v @ A0 e80T

Question Number : 117 Question Id : 630680218529 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The diagram given below shows the number of fans of different types.

White

Automatic

Heavy

2y

Arrange the following in the increasing order of their numbers.
I. Heavy automatic fans

II. Heavy white fans

III. Automatic white fans

Options :

1« M<I<II

5 % M<I<I



3 % I<II<III

4 % I<II<II

Question Number : 117 Question Id : 630680218529 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
& 18005 955050 B0 NG 850 e Do r)E0s.

White

| — Heavy

37

Automatic - @E5a37¢3S; White - Sens) 30K Heavy - 270
808 383 7¢3 Howe esFired (30065 @8 )0E.
L 2r0 es¢5TEST e

I 2r8 Bens) S0y arged

. eESaHe3S Bendy ok arse
Options :

1 <1<

> % Il < 1 < |

3% <<



4% 1< <1l

Question Number : 118 Question Id : 630680218530 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Consider the following array of special characters and digits.
£0@3677S4@312%68

How many special characters are followed by an odd number and preceded by an even number?

Options :

1. % 1

N
A
()

Question Number : 118 Question Id : 630680218530 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
& 1800 200 55380 DBk @03 (38N Nfdordod,

£9@36°754@312768

783 o5 20 0D HBAM W0k N8 Moy OB AR VIO TN oy



Options :

Question Number : 119 Question Id : 630680218531 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The Price of six pens A, B, J, L, M and T is compared. No two pens have the same price. Price of L is more than only A,

Band J. Price of T is maximum and price of A Is least. Which pen has the second highest price?

Options:

Question Number : 119 Question Id : 630680218531 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
A B J L MDA T & e e g dden Foya@an. o Bo 0O 23

&8 B, A B adBAM J © 0T SIS L O B0, T 008 8 ez dERNA nBoky A

8 46 o016, 0N & k) T, B8 Bocks Ko TS God?

Options :

Question Number : 120 Question Id : 630680218532 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Price of five cars C1, C2, C3, C4 and C5 are compared. Price of C1 is the least. No two cars have the same price. Price
of C3 is less than C5, C2 and C4. Price of neither C5 nor C2 is the highest. Price of C5 is less than C2. Price of how

many cars is less than the price of C2?
Options :

-

3. % 4



Question Number : 120 Question Id : 630680218532 Question Type : MCQ Option Shuffling :

Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
C1, €2, €3, C4 anBakd €5 &F 0ch 50 dden dFojaman. ¢ O8 eéie)Rd. o ok

0% 23 38 B, €3 &8 ¢5, €2 HB% ¢4 © $oD &y €5 5N B €2 B8 b
29580 . €5 8 2 0T ). o €2 GO $0D) ) 50 Y S8

Options :

Question Number : 121 Question Id : 630680218533 Question Type : MCQ Option Shuffling :

Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In a certain coding language ‘COLOR is coded as ‘AMJMP’. Match the following words with their respective codes on

basis of the above given code language?

Word Code

[|SLEPT |1]|QICNR

IT|CRUSH | 2 | APSQF

[IT| PUNCH | 3 | NSLAF

Options :

|« FLI-2. 1003

> % I-2,II-1,III-3

3 % I-1,I0-3, II-2

4 % 1-2,1I-3,III-1

Question Number : 121 Question Id : 630680218533 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



DO FHOF 27AcS 'COLOR @TE AMMPT &6 Tohadod.

% BN T8 27 errdor §0d Aoy &8 d0a0dd FEoS BéNGHod?

N0 | |56

| | SLEPT | 1| QJCNR

Il | CRUSH | 2 | APSQF

[l PUNCH | 3 | NSLAF

Options :

1. -1 112, 11-3

5 % 12, 111, 113

3 % 1, 153, 111-2

4. % =2, 11-3, 1lI-1

Question Number : 122 Question Id : 630680218534 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In a certain coding language ‘PRAYINGS' is coded as “YARPSGNI'. Which of the following pair of Word : Code is

correct on basis of the above code language?

Options:

1.+ CORRECTY : RROCYTCE

5 % WATCHILY : TAWCHYLI



3. #% SPININGS : PSNINISG

4 % SEWINGLY : YLGNIWES

Question Number : 122 Question Id : 630680218534 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

D02 §Goh rAS’ PRAYINGS ©F0 YARPSGNIT §6 Bahadod. D §6 ar embor
808 @ D0 @ 8% ¢ OBIG?

Options:
1.« CORRECTY : RROCYTCE
2 #% WATCHILY : TAWCHYLI

3. % SPININGS : P3NINISG

4. % SEWINGLY :@ YLGNIWES

Question Number : 123 Question Id : 630680218535 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



A person starts from point P and walks towards South for 25 km to reach point Q. He now takes a right turn and walks
for 15 km to reach point R. He now takes a left and walks for 10 km to reach point S. he now takes a left and walks for

15 km to reach point T?

Which of the following statements is correct?
L T is south of P.

IL. S s north-east of P.

[I1. Distance between T and P is 35 km.

Options :

1 % Only Il and III

> % OnlyIandII

3 « OnlyIandIII

g4 % LI and III

Question Number : 123 Question Id : 630680218535 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



28 S5P 0 00d (V0. @ TR BOSNEE 25 km 9880 3y AT, @S
320 $B 3% B60 R T8 THLSTIE 15 kn SATh. ©ED B i 3

S0 10 km &0 5 TS THH0ErD. ST°5 BN B SOA 15 km A T TS
DG%0Erd.

& (800 Nbsed IO HBNe?
LT e P § O8n 3NN &God
I 5 @R P § &70 3NN God,
I T 80 P & e Grdo 35 km.

Options :

1w 1 S0BAS N en S

, x| B0 11 e S

3 o | HBAD e S

4 % 11 0BT i

Question Number : 124 Question Id : 630680218536 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Select the option that is related to the fifth letter cluster in the same way as the second letter cluster is related to the first

letter cluster and fourth letter cluster is related to third letter cluster,

POND : RLRY :; SALT : UXPO :: KINT : ?
Options :

1« MFRO



> % MERO

3 % MFSO

4 % MEQO

Question Number : 124 Question Id : 630680218536 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

303 @80 MaraT0 SOE @8 drE o) T ©FG T Nl @80
DTG 50208008 G0 0N @58 HHTE H020800N JoRED JothEod,

POND : RLRY :: SALT : UXPO : KINT : ?
Options :

1.+ MFRO

> % MERO

3 % MFSO

4 % MEQO

Question Number : 125 Question Id : 630680218537 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Letters given on the left side of (:) are related with the letters given on the right side of (:) by some Logic/Rule/Relation.

Select the correct alternative from the given alternatives based on the same Logic/Rule/Relation.

PASTE : QCVXJ

Options :

1 % JUICE : LWLG]

2.« STOUT: TVRYY

5 » POSCA:QQVGE

4. % CREEP: DTHHU

Question Number : 125 Question Id : 630680218537 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

() O08) i Fayd 20N wiTen §Q) S8 0RAN0M00P0 T () sy Sk
3% S ©ETod Nowodo DR Gotran. 7 $8,0RMM80M00%0 eFdorT
)Y (NELTL0re Dok DTS (HEE ) dothEod,

PASTE : QCVXJ
Options :
1. % JUICE : LWLGJ

2.« STOUT : TVRYY

3 % POSCA : QQVGE



4. % CREEP : DTHHU

Question Number : 126 Question Id : 630680218538 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The question given below has a question and two statements, Choose the correct option on basis of the question and
statements.

What is the value of P?
1. Average of P, 36, 72 and 40 is 54.

IL. P is 6 more than the average of 36, 38, 42 and 49.

Options :

The question can be answered by using one of the statements alone but cannot be answered by using the other statement

1. % alone.

> « The question can be answered by using either of the statement I or I alone.

3. % The question can be answered by using both the statements together but not by either statement alone.

4 % The question cannot be answered by even by using both the statements together.

Question Number : 126 Question Id : 630680218538 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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D880 eTdor BN 0D NotEod.
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I P 96 36, 38, 42 s0ACD 49 © En $0T) 6 0.

Options :
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Question Number : 127 Question Id : 630680218539 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The question given below has a question and two statements. Choose the correct option on the basis of the question and

statements.
What is the percentage discount on shirt?
[. The marked price of shirt 1s Rs. 360 and it is sold for Rs. 318.

IL. After giving a discount of Rs. 35, the shirt was sold for Rs. 325.
Options:

1.



The question can be answered by using one of the statements alone but cannot be answered by using the other statement

% alone,

5> « The question can be answered by using either of the statement I or I alone.
3. % The question can be answered by using both the statements together but not by either statement alone.

4w The question cannot be answered by even by using both the statements together.

Question Number : 127 Question Id : 630680218539 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 128 Question Id : 630680218540 Question Type : MCQ Option Shuffling :

Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the following question, two statements are given. There may be a cause-and-effect relationship between the two

statements. Identify the correct relation between the statements and choose the correct option.
Statement A: Company Z laid off an estimated 120,000 workers to reduce cost.

Statement B: Company Z wants to cut costs and remain competitive in a challenging economic environment.

Options:

1. % If statement A is the cause and statement B is its effect.

2« If statement B is the cause and statement A is its effect.

3. % Ifboth the statements A and B are independent causes.

4 w Ifboth the statements A and B are effects of independent causes.

Question Number : 128 Question Id : 630680218540 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 129 Question Id : 630680218541 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The table given below shows the number of cars sold by 5 showrooms in 3 consecutive years.

YIY2|Y3

S1|460| 340|510

52| 860 | 440|220

531630 | 430|470

541230 | 290 | 840

S5 340 | 360 | 430

Which of the following is the correct order of total sales of showrooms in the given 3 years together?

Options :

| % S2>S3>S1>S4>S5

5> % S2>S3>S4>S]>S5

3 % S3>82>S1>54>S5

4 S3>82>S4>S1>85

Question Number : 129 Question Id : 630680218541 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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311460 | 340 | 510

32| 860 | 440 | 220

331630 | 430 | 470

341230 | 290 | 840

355|340 | 360 | 480
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Options :
1. % 852 » 33 » 31 » 34 » 35
2 % S2 » 53 » 54 » 51 » 55

3 % S3 > S2 > S1 > S4 > S5

4.« 93 = S2 > 54 = 51 = S5

Question Number : 130 Question Id : 630680218542 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The bar chart given below shows the number of runs given and overs bowled by a bowler in 5 matches.

54
43
32
23
16
8
1 ﬂ 5
I_JI T T T
M1 M2 M3 M4 M3
ORuns given @ Overs bowled

Economy rate = Runs given/overs bowled

Which of the following is the correct order of economy rate for these 5 matches?

Options :

1« M3 >MI>M2> M4 > M5

5 % M3 >MI>M2>MS5>M4

3 % M3>M2>MI > M4 > M5

4 % MB3>M2>MI>MS5>M4

Question Number : 130 Question Id : 630680218542 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1.« M3 > M1 > M2 > M4 > M5
2 % M3 > M1 > M2 > M5 > M4

3% M3 > M2 > M1 > M4 > M5

4 % M3 > M2 > M1 > M5 > M4

Question Number : 131 Question Id : 630680218543 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Select the most appropriate option to fill in the blank.

Misappropriation or conversion need not be permanent; it may be for

Options :

1. % atimes

2 « atime

3. % antime

4. % thetime

Question Number : 131 Question Id : 630680218543 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option to fill in the blank.

Misappropriation or conversion need not be permanent; it may be for

Options :

1. % atimes

2« atime

3. % antime

4. % thetime



Question Number : 132 Question Id : 630680218544 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option to fill in the blank.

The nature of bird is to fly in open sky.

Options :

1 % an, the

5 % the, an

3 v a the

4 % an, an

Question Number : 132 Question Id : 630680218544 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option to fill in the blank.

The nature of bird is to fly in open sky.
Options:
1 % an, the

5 % the, an

3 v a the



4 % Aan, an

Question Number : 133 Question Id : 630680218545 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option to fill in the blank.

When one tree was chopped down, another to ensure continuity.
Options :

1.« Was planted

) % planted

3 % Was planting

4 % plants

Question Number : 133 Question Id : 630680218545 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option to fill in the blank.

When one tree was chopped down, another to ensure continuity.
Options :

1« Was planted



« planted

3 % Was planting

4 % Dblants

Question Number : 134 Question Id : 630680218546 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option to fill in the blank.

A devotee accepts everything that happens him as a gift of God.

Options:

1. % on

2. ® in

3 % of

4, 10

Question Number : 134 Question Id : 630680218546 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Select the most appropriate option to fill in the blank.

A devotee accepts everything that happens him as a gift of God.

Options :

1. % on

2 % in

3 % of

4.+ 10

Question Number : 135 Question Id : 630680218547 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

From the four sentences given below, identify the sentence(s) with a grammatical error.
. My new job is harder than my old one.

II. T am not associated with any terrorist group.

III. T am sorry you are not feeling well.

IV. I did not knew you had a son.
Options :

1 % OnlyI IIand III

5 OnlyIV

3 % OnlyIlandIV



4 % Only II'and ITI

Question Number : 135 Question Id : 630680218547 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

From the four sentences given below, identify the sentence(s) with a grammatical error.
L. My new job is harder than my old one.

II. T am not associated with any terrorist group.

III. I am sorry you are not feeling well.

IV. I did not knew you had a son.

Options :

1 % OnlyL I and III

5 « Only IV

3 % OnlyIandIV

4 % Only I and III

Question Number : 136 Question Id : 630680218548 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



From the four sentences given below, identify the sentence(s) with a grammatical error.
L You should wash vour clothes vourself.
II.  The remaining vacation slipped by quick, and life returned to normal.
III.  They were counting the number of students.

IV. My cousin was born on July.
Options :
1 % Onlyl

> % OnlyIIIand IV

3 Only IT and IV

4 % Al L 1T, IIT and IV

Question Number : 136 Question Id : 630680218548 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

From the four sentences given below, identify the sentence(s) with a grammatical error.
L You should wash vour clothes vourself.
II. The remaining vacation slipped by quick, and life returned to normal.
III.  They were counting the number of students.

IV. My cousin was born on July.
Options :

1 = Onlyl



5 w Only Il and IV

3  OnlyITand IV

4. ® All L II, IIT and IV

Question Number : 137 Question Id : 630680218549 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the sentence with the correct usage of the present perfect tense.

L. She has forgotten all her files at home.

II. Your servant had called me.

Options:

1 & Onlyl

> % OnlylIl

3 % BothIandII

4. % Neither I nor I

Question Number : 137 Question Id : 630680218549 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Identify the sentence with the correct usage of the present perfect tense.

L. She has forgotten all her files at home.

II. Your servant had called me.

Options :

1 Onlyl

> % OnlylIl

3. % BothIandII

4. % Neither I nor I

Question Number : 138 Question Id : 630680218550 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the sentence with the correct usage of the future continuous tense.

L IT'will be making all the arrangements for this upcoming trip.

II. She might had been closing the door immediately.
Options :

1 & Onlyl

) % Only IT

3. % BothIandII

4. % Neither I nor I



Question Number : 138 Question Id : 630680218550 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the sentence with the correct usage of the future continuous tense.

L. Iwill be making all the arrangements for this upcoming trip.

II. She might had been closing the door immediately.
Options:

1 & Onlyl

> % OnlylIl

3 % BothIandII

4. % Neither I nor I

Question Number : 139 Question Id : 630680218551 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option to fill in the blank.

Radha never shares her secrets. ?

Options :

1. % Isshe

2.« does she



3. % didn’t her

4. % don’t she

Question Number : 139 Question Id : 630680218551 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option to fill in the blank.

Radha never shares her secrets, ?

Options :

1. % Isshe

2« does she

3. % didn’t her

4. % don’t she

Question Number : 140 Question Id : 630680218552 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option to fill in the blank.
Your teachers have denied admission to the school. ?
Options :

1.



» haven’t they

5> % has they

3 % did they

4. % hadn’t them

Question Number : 140 Question Id : 630680218552 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option to fill in the blank.

Your teachers have denied admission to the school.
Options :

1« haven’t they

> % hasthey

3 % did they

4. % hadn’t them

Question Number : 141 Question Id : 630680218553 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
Select the correct passive form of the given sentence.

My team has analysed the project.
Options :

1 % The project is beenanalyzed by my team.

5> % The project was analyzed by my team.

3 The project has been analyzed by my team.

4 % By my team the project is analyzed.

Question Number : 141 Question Id : 630680218553 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the correct passive form of the given sentence.

My team has analysed the project.

Options :

1 % The project is beenanalyzed by my team.
) % The project was analyzed by my team.

3  The project has been analyzed by my team.

4 % Bymy team the project is analyzed.



Question Number : 142 Question Id : 630680218554 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the correct active form of the given sentence.

Some chocolates are distributed by the organisation.
Options :

1 = The organization has distributed some chocolates.

>  The organisation distributes some chocolates.

3 % The organisation distributing some chocolates.

4 % The organisation distributed some chocolates.

Question Number : 142 Question Id : 630680218554 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the correct active form of the given sentence,

Some chocolates are distributed by the organisation.
Options:
1 = The organization has distributed some chocolates.

5>  The organisation distributes some chocolates.

3 % The organisation distributing some chocolates.



4 % The organisation distributed some chocolates.

Question Number : 143 Question Id : 630680218555 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Match the given idioms with their correct meanings.

Idiom Meaning
A | Be over the moon | 1| Give up
B | Call it quits 2 | To be extremely happy
C | Il at ease 3 | Uncomfortable
D | Make a living 4 | To earn money
Options:

| v A-2,B-1,C-3,D-4

, % A-1,B-2,C-3,D-4

3 % A-3.B-1.C-4,D-2

4 % A4,B-1,C-3,D-2

Question Number : 143 Question Id : 630680218555 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the given idioms with their correct meanings.

Idiom Meaning
A | Be over the moon | 1| Give up
B | Call it quits 2 | To be extremely happy
C | Ill at ease 3 | Uncomfortable
D | Make a living 4 | To earn money
Options :

| v A-2.B-1.C-3,D-4

, % A-1,B-2,C-3,D-4

3 % A-3,B-1,C-4,D2

4 % A-4,B-1,C-3,D-2

Question Number : 144 Question Id : 630680218556 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Match the given idioms with their correct meanings.

Idiom Meaning
A | Raining cats and dogs | 1 | Make a fresh start
B | Spill the beans 2 | Very dark
C | Turn over a new leaf | 3 | Rain heavily
D | Pitch black 4 | Reveal a secret
Options :

| % A-3.B-1.C-2,D4



, % A-4,B-3,C-1,D2

3 v A-3.B-4.C-1,D-2

4 % A-1,B-4.C-2,D-3

Question Number : 144 Question Id : 630680218556 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Match the given idioms with their correct meanings.

Idiom Meaning
A | Raining cats and dogs | 1 | Make a fresh start
B | Spill the beans 2 | Very dark
C | Turn over a new leaf | 3 | Rain heavily
D | Pitch black 4 | Reveal a secret
Options :

| % A-3.B-1.C-2,D-4

, % A-4.B-3,C-1,D-2

3 v A-3,B-4,C-1,D2

4 % A-1,B-4.C-2,D-3

Question Number : 145 Question Id : 630680218557 Question Type : MCQ Option Shuffling :



Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the correct pair of synonyms.
L. Flourishing: Abundant

II. Lethargic: Lazy

III. Fishy: Certain

IV. Restrict: Afford

Options :

1 = OnlyIV

> « OnlyIandII

3 % Only IT'and III

4 % Only L IITand IV

Question Number : 145 Question Id : 630680218557 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the correct pair of synonyms.
L. Flourishing: Abundant

II. Lethargic: Lazy

III. Fishy: Certain

IV. Restrict: Afford

Options:

1 = OnlyIV

> « OnlyIandII



3 % Only IIand III

4 % OnlyL ITand IV

Question Number : 146 Question Id : 630680218558 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct pair of antonyms.
I. Alike: Connate

II. Mellow: Harsh

ITI. Slight: Strong

IV. Classy: Flashy

Options :

1 % OnlyL I and III

> % OnlyIandII

3 % OnlyIIand IV

4+ Ounly IL IIT and IV

Question Number : 146 Question Id : 630680218558 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Identify the correct pair of antonyms.
L. Alike: Connate

II. Mellow: Harsh

III. Slight: Strong

IV. Classy: Flashy

Options :

1 % Only I IIand III

> % OnlyIandII

3 % OnlyIIand IV

4. Only IT, IIT and IV

Question Number : 147 Question Id : 630680218559 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the sentence(s) with no spelling errors from the given sentences.

L. A limitation of this new model is its two main pillars.

I1. Leadership is not about visibly outworking everybody:.
Options :
1 = Onlyl

> % OnlylIl

3.+« BothIandII



% Neither I nor II

Question Number : 147 Question Id : 630680218559 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the sentence(s) with no spelling errors from the given sentences.
I. A limitation of this new model is its two main pillars.
II. Leadership is not about visibly outworking everybody:.

Options :

1 = Onlyl

> % OnlylIl

3.+« BothIandII

4. % Neither I nor I

Question Number : 148 Question Id : 630680218560 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the sentence(s) with no spelling errors from the given sentences.

I. The driver stops at the crowded entrnce.
II. She pushes the button and glances back at me.
III. Our goal is to provide some answers.

I'V. Atitudes and actions have direct consequences.

Options :



1 % OnlyILIland IV

Only I'and II

3  Only IIand III

Only IIT and IV

Question Number : 148 Question Id : 630680218560 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the sentence(s) with no spelling errors from the given sentences.

L. The driver stops at the crowded entrnce.
II. She pushes the button and glances back at me.
III. Our goal is to provide some answers.

IV. Atitudes and actions have direct consequences.
Options :

1 % Only L ITand IV
> % OnlyIandII

3« Only IT'and III

4 % OnlyIIand IV

Question Number : 149 Question Id : 630680218561 Question Type : MCQ Option Shuffling :



Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate pair of homonyms for the given blanks.

I somewhere that an apple is in colour.

Options :

1 « lead,red

9 % red, read

3 % raid. read

4 % read, raid

Question Number : 149 Question Id : 630680218561 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate pair of homonyms for the given blanks.

I somewhere that an apple is in colour.
Options:
1« read, red

9 % red, read

3 % raid. read



4 % read, raid

Question Number : 150 Question Id : 630680218562 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate pair of homonyms for the given blanks.
His live concert in my city was by the music organisation.
Options :

1. % bass. base

5 % base. bass

3 % banned, band

4. band, banned

Question Number : 150 Question Id : 630680218562 Question Type : MCQ Option Shuffling :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate pair of homonyms for the given blanks.

His live concert in my city was by the music organisation.

Options :

1 % bass, base



« base, bass

3 % banned, band

4 band, banned



